Instructions for Fast Installation

Three-phase Series

water may flow in,resulting in machine failure.In such

fi Warning:All fasteners must be locked tight.Otherwise

case warranty shall not be provided.

{1 = 200mm
>500 >500mm|
= =
b
ENH gE
o/ 5 4 \
MO v E G il ) Eg
{l>500mm
H >200mm
> 88 i)
ERE
W = ¥ "ﬂ"
ﬁ> 500mm
H >200mm
>0 38
<> _ <
El ‘ =
g g
ﬁz 500mm

Installation space

DT Series <«
3
&
)
457.0 S
2085 RS
"
o v
S
200.0
400.0

Smart DT Series

457

228.5

200

400

Dimensions for Drilling holes

self-tapping screws

Wall bracket

Expansion pipe

Fix the wall bracket

Bottom side

Bottom side

Mounting place and installation

=

Standard connection

o)

AC wire assembly and connection

10~12mm

Copper Conductor Material

Tubular terminal need to be crimp connected

L2 N

NI NS

Strip appropriate length of ground
insulation slices.

Insert the stripped wire into the terminal
and compress it tightly, lock earth wire to
inverter.

The last step ,coat it with silicone for
corrosion protection.

340-00080-01




2.5~4mm*———

7mm

Positive plug

G DT Series

SDT15KW&10KL

SDT4~10KW

M3X8 screw
Fastening torque up to 0.6N « m

M3X8 screw M3X8 screw
Fastening torque up to 0.6N * m Fastening torque up to 0.6N + m
Line | Function
S 1_|RS485+
il E_' 2 |Rs48s5 -
S = 3 | RESERVED
,,,,,,,,,,,,,,,, 2 4 | RESERVED
a 5 |RS485+
5 |RS485 -
.
! f Limit buckle can't Screw Nut
| crimp the wire Line | Function _
[— i = 1 | RS485+ CDmmunir({Z:i: Single hole Cables RS485  Single hole Cables
AMPHENOL/MC4 T ‘ 2 |RS485- bomd SN Communication seal ing
CONNECTOR P Toviatninivho o oo oard
Special tools are used to stitching
DC wire assembly and connection RS485 Communication assembly
*DC Cable should be use dedicated PV cable(Suggest using 4 mm? PV1-F wire).
H DT Series DT4~10KW
S 0 SDTL5KWe10KL Wiring diagram of METER, inverter and Grid . .
Configure Country Setting
— METER-
METER+
g Step1: Turn on DC Power of Inverter
,% Step2: If LCD Shows 'Configure Configure
LILH Safety' as Below. Otherwise, S fg
[— SKIP All Steps. EIBly
HEEg
Step3: Long Press 'Enter' Key until
LCD Shows as Below: Set Safety
50Hz Grid
Default
Step4: Press ‘UP’ or ‘DOWN’ Set Safet
. ) Y
Key to Switch Different Country
Setting. Such as

Connect the cable terminal with the external WiFi module.

M3X8 screw M3X8 screw
Fastening torque up to Fastening torque up to
0.6N+m 0.6N+m

Connect the cable terminal with the external

WiFi module.

M3X8 screw
Fastening torque
upto 0.6N +m

Connect the cable terminal with the external
WiFi module.

Assembly the module on the machine

*WiFi module should be assembled.

Pin NO [ Function

RS485+
RS485-

Meter

DRM1/5
DRM2/6
DRM3/7
DRM4/8
REFGEN
COM/DRMO|

7
8

DRED Device

DRED connection is only available for

Australia and New Zealand

M3X8 screw
Fastening torque up to 0.6N - m

876543 21

wwgz
wwg'y
wwsg
)

Power Limiting Device(DRED)assembly

If there isn't PROPER country setting, then select '50Hz Grid
Default' for 50Hz grid or '60Hz Grid Default' for 60Hz gird.

Step5: Long Press ‘ENTER’ Key to Confirm the Country Setting.

SetTime

Inverter time setting please refer to the diagram below.

L

Normal

[ 20120326

bowatp T

Do Op Frror Log Set Time,
v [
Error Log Error Lo - 12:25
7 - L [P 2012-03-25

Language
Date&Time | | [Date&Time] Histogram
Language [ e | Language
Histogram Histogram




	页 1
	书签900A38FD　　　　　　　　　　340-00080-01
	书签772E3583　　　　　　　　　　200mm
	书签B333A02F　　　　　　　　　　500
	书签542BB390　　　　　　　　　　mm
	书签343CB769　　　　　　　　　　500
	书签847AA183　　　　　　　　　　mm
	书签DD2DDEAE　　　　　　　　　　500mm
	书签A32AF286　　　　　　　　　　200mm
	书签43339CC2　　　　　　　　　　500
	书签9DCE04D0　　　　　　　　　　500mm
	书签815FEE57　　　　　　　　　　mm
	书签9CCABFC3　　　　　　　　　　500mm
	书签067C4462　　　　　　　　　　200mm
	书签D7F19501　　　　　　　　　　500
	书签E9898371　　　　　　　　　　mm
	书签C0771D21　　　　　　　　　　500
	书签80702FB2　　　　　　　　　　mm
	书签B3229CF2　　　　　　　　　　500mm

	页 2
	书签5B7EC88B　　　　　　　　　　SDT4~10KW
	书签43B7CF0F　　　　　　　　　　SDT15KW&10KL
	书签0DD1A687　　　　　　　　　　SDT4~10KW
	书签267BC63A　　　　　　　　　　SDT15KW&10KL


